25-31 Short-Row Scarf

© Pierrot Yarns (Gosyo Co., Ltd.). Translation by Linda Lanz.

Materials

* Pierrot Yarns Atoll Slub Knot [80% rayon, 20% polyester; 77
yds/70m per 1.41 0z./40g skein]; color #4; 2 skeins [60g]

* Pierrot Yarns Super Kid Mohair [75% mohair, 25% nylon; 306
yds/280m per 0.88 0z./25g skein]; color #5801; 1 skein [20g] —
discontinued; please choose appropriate substitute.

* 5.7mm (approx. US 9) knitting needles or size necessary to achieve

gauge

Gauge

* pattern stitch: 11.5 sts and 18 rows = 10cm/4" square

Finished measurements

* width 25cm/9.84"

* length 122cm/48.03" refer }}Ez}dec 31em

to chart e 56 rows
\ Knitting Tips i
| s Entire scarf knit with two strands held together: !
 one strand Atoll Slub Knot and one strand Super
i Kid Mohair. :
| | 122cm 355cm
R . L 218 rows 640 rows
+ Using crochet hook, work chain to cast on. Knit ! " 80 times W
i first row of stitches into bottom loops of crochet
} chain. Knit according to schematics, working
1 short rows on left side and increases on right side. |
i When working other tip of scarf, work short rows
i on left side and decreases on left side. Bind off in i
| pattern. i
i o i refer 31lcm
i Abbreviations: CO = cast on; dec = decrease; to chart 3RE 56 rows
| inc = increase; RE = rows even; ]2 ine
i YO = yarn over |
CO 3 sts (2cm)
2-4-3
= {518 )
® =11.5cm (16 sts)
B =6 rows

A =2 rows



http://gosyo.shop.multilingualcart.com/

®instructions
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Note: instructions assume you will be using Japanese
short rows. Other short row methods will also work.

= [Mknit st
I
A I I
[T T AT T AT TIXK 25
Oy
v
o/ 20
T 17
[T 11X 3 23
Oy
15
Py
Ov
T 17
[T 11X z < 10
Oy
Py
Oy 5
T 17
I 11X P8 £ V1
] 56
o7 55
Oy
T 17 50
[T 11X < ¥
o]
Py
7145
]
T 17
[T T1x 73 v
oV 40
Oy
%
T 17
T TTx 3 35
oV
|4
Oy
T 17 30
[T 11X 1%
oV
T 17
[T 11X v 125
OJ
T 17 increases
[T T1x 4
Oy 20
[T 17
Y . 4
Oy
1115
%
A 10
V1 1s
1
31

A=

Ov| =

When closing up short rows, knit YO
together with slipped stitch.

Knit to marked stitch, turn work, YO,
slip 1 stitch.




